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Crime in lllinois 2016 Index Crime

Index Crime Offense & Crime Rate Data

This section primarily focuses on Index Crime offenses and arrests, and drug arrests reported to
police. The lllinois Uniform Crime Reporting Program Index Crime offenses include the categories of
criminal homicide, rape, robbery, aggravated battery/aggravated assault, burglary, theft, motor vehicle
theft, arson, and human trafficking commercial sex acts and human trafficking involuntary servitude.
The state of lllinois Index Crime offense and arrest rate comparison for 2016 and 2015 are presented
on Page 15, followed on Page 16 by the state of Illinois primary page.

The state of lllinois primary page provides a compilation of statistics reported by participating
police departments, sheriff's offices, and statewide law enforcement agencies. Statistics include Index
Crime offenses, arrests, and associated crime rates per 100,000 inhabitants; Drug offense arrests;
Domestics Offenses, Hate Crimes, and School Incidents.

Following the state of lllinois primary page is an alphabetical listing of primary pages for lllinois
counties. County totals reflect crime data reported by police departments and the sheriff's office
located within the county; however, data reported from state agencies is excluded. Below each county
primary page is a listing of agencies within the county that submitted data for the 2016 and/or 2015
reporting years. The Sheriff's Department is listed first, unless the agency was non-compliant and did
not submit data for the 2016 and 2015 reporting years. An alphabetical listing of the remaining
agencies in the county that submitted data follows. The Index Crime rate, as well as Index Crime
offense category totals are provided for each agency.

Caution should be exercised when reviewing and using this information. Many social factors
related to crime and a community’s population must be considered when making statistical
comparisons. A community may have a small residential population but a large transient population
due to a substantial number of employers, motels, entertainment attractions, etc., within its jurisdiction.
A large transient population is also prevalent in small communities located in metropolitan areas
adjacent to Chicago and Saint Louis. A large transient population increases the potential for criminal
behavior within a small jurisdiction. The resulting higher population-based crime rate does not
compensate for a transient population. The final statistics can lend to the impression that crime is
more prevalent due to the exclusion of the transient population in calculation processes. Additionally,
the increase in the number of agencies reporting 2016 statistics impacted county and state statistic
totals when compared to the 2015 reporting year.

The footnote and acronyms in the county primary pages are defined as follows:

1 -"“Incomplete data” indicates an agency did not participate in the I-UCR Program for one
or more months (due to the agency being disbanded or created during the reporting year) or
one or more monthly index reports were delinquent.

 MCA - indicates an agency whose jurisdiction involves more than one county. Offenses are
sorted and reported by county of occurrence. Only offenses having occurred in the related
county primary page are provided. Complete reports for an MCA agency can be found in
Section V - Appendix.

« V* - indicates whether or not (Y or N) an agency verified 2016 statistics during the annual
verification process.

e N/C - indicates unable to calculate.

-- -indicates an agency was noncompliant and submitted no data for the reporting year.
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Index Crime Crime in lllinois 2016

Index Crime Offense/Crime Rate Data

This section used population statistics available from the U.S. Bureau of the Census. The Federal
Bureau of Investigation, who is the administrator of the Federal Uniform Crime Reporting Program,
provided population statistics derived from U.S. Bureau of the Census resources for sheriff's offices,
municipalities, county, and statewide populations.

Multi-county agencies are encouraged to report crime independently for each county; however,
some continue to report total crime incident totals with no regard to county of occurrence. In these
cases, the I-UCR Program has proportioned each of the multi-county agencies’ crime rate, crime index
total, and each of the ten Index Crime offenses based on the percentage of the population residing in
each county. In some cases, the percentages may not sum to 100 due to rounding. Of the reporting
agencies, there were 69 cities with I-UCR reporting jurisdictions located in more than one county (see
pages 319-331 for a list of multi-county agencies).

Example:

A city with a population of 100,000 has 75,000 or 75.0 percent of its population in County 1 and
25,000 or 25.0 percent of its population in County 2. The total crime index offenses reported by the
agency in 2016 is 2,500.

The crime index has been computed as follows for County 1 and County 2:

Jurisdiction County Population Calculation Total Crime Index
City County 1 75,000 0.750 X 2,500 = 1,875
City County 2 25,000 0.250 X 2,500 = 625
Total 100,00 Total 2,500
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Crime in lllinois 2016 Index Crime

ILLINOIS INDEX CRIME OFFENSE RATE COMPARISON 2016/2015
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State Agencies

The table on the following page includes Index Crime offense data reported by state of lllinois law
enforcement agencies. Due to nature of these agencies’ state-wide jurisdiction, offenses are not
reported by location of occurrence. Data submitted by these agencies is excluded from county totals;
however, the data is included in the statewide totals.
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